CO2 MIA]

F

L

[<)

_,
714 8
SIEFA(HCO3- & COz2- M|2))2] £H2 3 ELIHES et 71y S22 Ui

EIE

|-

| —

FLFILICE. AMT GmbH

=0l 8ol O|¢r=tEr29] On-Line 278

LIC}. T2t 22 AMT-CO2 M= Z|TH

0
c
K4 L e, =
m Db <k o < W_. 2 O
= of o 2T < ul _
N - 2 Sm
m = 2 Ko =S O
or A| = — I = = = ©
e b 2 0 o ™ <l e
[ o KD o K <0 ol A@F
K I o o & & on T N §
= _|_._ . _=_=_ (0]
0 0 =X 0 =0 M @ o - ®
i T = m ol U O K s>
e TR 9 L g 4 X = s &=
ST =1 ] W = = 2L o & - & 7
il = 2 oo O <
o m = = N i
LHr o 2 £ g © Hr = n~
_._._._ |__O ol — © On == .o = wr N
i M ol T = &0 1o A — 2
oo T I < Mg 3 R0 om o m o
o 0 H ”_I”__ i o o = <k K =T OF 7 KO m__m _|_|_
o T w_”__ 50 zx X0 ofl mu_u oln E__| Ko Ko S K ™ 19
ol 14 2 i BT o K0 3T & KM o
52 o) < mom g W O R ST LTI =
o %0 moel oy . O {0 o . 2 - H
— IF <0 o = O _A_| O KO T
= = K 70 R = {Fo_= ok = - T ol o B
W~ = ST s g v B . = R D U E
= WK oo 2w e B I 1
K S5 F 3 IF ot O Ho X ook 0 £ °F W o g K _7% Wo )
un 224 dm T g T &k o 0 RN DD g oF
= o Xl SN | o " oF 00 B0 20 ik g — 4 <O
-1 53 = o o o2 KE g NN
S 9 4 X 5 o= o E @ ow M o— N MW X S 2y W W g
nH - H rd =y 0 Ol HO ~ od = W s o N O
S o R oy Moy RRQ G O Moo s WD H
o = omw oM MW oo 2y O G gy 80 B R — =m0 oK
S <F AL 0 = H N X = i OF & @ JU IF LH KK
S oy R =g g Wy, WS kW TR oS T
— Mk p_u o3 __A__| I+ = m.m @. = LH _lu_O I | I I I I I I | I I
T & o [0 = Ho




0] g7] W20

2
ton
m
B>
>
s
rr
=l
-
08
ro
-
[
C T
()
O
<
g
()
O
w)
">
=2
4
ro
el
ol
[~
0%
E
ool'

90

80

70

®

60

CO2
mt
mat 2| M
MM 2| M

50 =
40

ok eom

30

20

10

H

0]

ol
=

AlS

I
2
ro
M
o
rin

d|
1ok
=
R
ok

2 M2 7]z Tl :

on
il
5

-

X~

2| : 15 mg/l, 50 mg/l, 340 mg/| 2] QAHL| = MEH JI=
:0..5mg/1 CO2: = 0.06 mg/I
5..15mg/l CO2: £ 2 % of the measuring value
15..50 mg/l CO2: + 3.5 % of the measuring value
50..80 mg/1 CO2: £ 1.5 mg/l CO2
80...340 mg/l CO2: =+ 6 mg/l CO2
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|2~ : 225 mm length, 33 mm diameter

of*d ME : ElE=
F4IE : Subconn MCBH4M

XMQ =22 AHK|: 12-30 V DC IZIIIE* =Yy s s

20-30 VDC M7 =2 A 2 I

M AH (05 W

ZH| A|ZH: (12 seconds, { 2 minutes for full accuracy

Z|CH B X| Z10]: 1,000 m / 1,000 dbar
MEIsEH:4~20mA, 0~5VDC or LIX|E &2 RS485

BT Y EHS Y5t 2 B 10 - 60
e 25 Hat ‘}
&k 2 7|E} F2k0| CHek H4t Q

O

()0 op A B A

MC Masters

Measurement & Control






